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A Method of Determining the Quantity of Flow of Pipe
Networks When Dynamic Water Pressure Needed
at Each Nodal Point Is Given

Kenzo Morita

Abstract

In order to determine the quantity of flow of pipe networks, a method has heretofore been
employed by which the quantity of flow of each pipe-line is measured with regard to such factors
as the inner diameter, the distance and the veloity coeflicient of the each of the pipe-lines forming
the pipe networks.

In this paper the writer presents a conditional equation at each nodal point in consideration of
the dynamic water pressure needed at each nodal point as well as the distance and the veloituy
coefficient of each pipe-line. He introduces, through the method of least squares, a formula from
which the correlate normal equation of the pipe networks and the corrected value of the diameter
of each pipe-line are to be found, explains how to make these formula and equation exactly and

mechanically, referring to the pipe networks, and provides some examples of measurement by this
method.
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